


Z_AWARDBOD_0.0.1
	Field description
	Field name
	Field version
	Field length
	Field type
	Field
level

	The awarding body associated with each qualification awarded on Engagements returned during the reference period.

	Z_AWARDBOD_RP

	0.0.1
	8
	Char
	2

	The awarding body associated with each qualification awarded on Engagements returned during the cycle
	Z_AWARDBOD_CYC

	0.0.1
	8
	Char
	3



Entity
Engagement.Z_AWARDBOD_RP - Calculated for every Engagement returned in the reference period and returns the awarding body for the highest qualification awarded in the reference period.
Engagement.Z_AWARDBOD_CYC - Calculated for every Engagement returned in the cycle and returns the awarding body for the highest qualification awarded in the reference period.

Valid entries
	Field name
	Code
	Label

	Z_AWARDBOD_RP, Z_AWARDBOD_CYC
	Valid UKRPN
	UKPRN name 

	
	5010
	Pearson Edexcel

	
	5027
	SQA

	
	5032
	Other non-UK based awarding body

	
	5035
	Other UK based awarding body

	
	Z4
	Other 

	
	Z5
	Not applicable

	
	Z9
	Not known





Dependent fields

Depend upon fields
· Qualifcation.AwardingBodyRole.AWARDINGBODYID
· Engagement.QualificationAwarded.QUALID
· Engagement.QualificationAwarded.Z_QAWARDHMKR_RP (Z_AWARDBOD_RP only) 
· Engagement.QualificationAwarded.Z_QAWARDHMKR_CYC (Z_AWARDBOD_CYC only
· RefDataStore.Provider.UKPRN
· Engagement.QualificationAwarded.QUALAWARDID


Additional information
This field looks at all the awarding bodies associated with the highest qualification awarded (Z_QAWARDHMKR_RP or Z_QAWARDHMKR_CYC) for an Engagement, returns a single awarding body when multiple codes have been returned. 

Technical Specification (Z_AWARDBOD_RP)
For all Engagements returned in the reference period, if there is no QualifcationAwarded entity or Z_QAWARDHMKR_RP = 0 for all QUALAWARDID, this derivation is set to Z5 ‘Not applicable’. 
Otherwise, for the QUALAWARDID for which Z_QAWARDHMKR_RP = 1, select all Qualification.AwardingBodyRole.AWARDINGBODYID associated with the award. Where there are no associated AWARDINGBODYID, set Z_AWARDBOD_RP = Z9, otherwise set TEMP_COUNT_AWARDBOD as the count of the distinct AWARDINGBODYID and TEMP_COUNT_UKPRN as the count of the distinct AWARDINGBODYID for which AWARDINGBODYID is a UKPRN not equal to the reporting provider (RefDataStore.Provider.UKPRN).
Z_AWARDBOD_RP is derived as follows, using a hierarchical approach is taken where multiple awarding bodies have been returned. The reporting provider is selected in preference to Pearson Edexcel, SQA or another UKRPN:

	QualificationAwarded.
Z_QAWARDHMKR_RP 
	TEMP_COUNT_
AWARDBOD
	TEMP_COUNT_
UKPRN
	At least one AwardingBodyRole.
AWARDINGBODYID
	All other
AwardingBodyRole.
AWARDINGBODYID
	Engagement.
Z_AWARDBOD_RP

	Does not exist or all occurrences = 0
	
	
	
	
	Z5

	Otherwise 
	0
	
	
	
	Z9

	
	=1
	
	
	
	AWARDINGBODYID

	
	>1
	
	Provider.UKPRN
	
	Provider.UKPRN

	
	
	
	5010 
	5010, 5032, 5035
	5010

	
	
	
	5027 
	5027, 5032, 5035
	5027

	
	
	1
	Valid UKRPN <> Provider.UKPRN
	5032, 5035 
	UKRPN

	
	
	
	Otherwise 
	
	Z4




Technical Specification (Z_AWARDBOD_CYC) 
For all Engagements returned in the cycle, if there is no QualifcationAwarded entity or Z_QAWARDHMKR_CYC = 0 for all QUALAWARDID, this derivation is set to Z5 ‘Not applicable’. 
Otherwise, for the QUALAWARDID for which Z_QAWARDHMKR_CYC = 1, select all Qualification.AwardingBodyRole.AWARDINGBODYID associated with the award. Where there are no associated AWARDINGBODYID, set Z_AWARDBOD_CYC = Z9, otherwise set TEMP_COUNT_AWARDBOD as the count of the distinct AWARDINGBODYID and TEMP_COUNT_UKPRN as the count of the distinct AWARDINGBODYID for which AWARDINGBODYID is a UKPRN not equal to the reporting provider (RefDataStore.Provider.UKPRN).
Z_AWARDBOD_CYC is derived in a similar way to Z_AWARDBOD_RP: 
	QualificationAwarded.
Z_QAWARDHMKR_CYC
	TEMP_COUNT_
AWARDBOD
	TEMP_COUNT_
UKPRN
	At least one AwardingBodyRole.
AWARDINGBODYID
	All other
AwardingBodyRole.
AWARDINGBODYID
	Engagement.
Z_AWARDBOD_CYC

	Does not exist or all occurrences = 0
	
	
	
	
	Z5

	Otherwise
	0
	
	
	
	Z9

	
	=1
	
	
	
	AWARDINGBODYID


	
	>1
	
	Provider.UKPRN
	
	Provider.UKPRN

	
	
	
	5010
	5010, 5032, 5035
	5010

	
	
	
	5027 
	5027, 5032, 5035
	5027

	
	
	1
	Valid UKRPN <> Provider.UKPRN
	5032, 5035 
	UKRPN

	
	
	
	Otherwise 
	
	Z4



Example 1 
An Engagement at provider 10000010 has one QUALAWARDID returned during the reference period which has two associated AWARDINGBODYID. TEMP_COUNT_AWARDBOD =2 and TEMP_COUNT_UKPRN = 0 (neither AWARDINGBODYID is a UKPRN): 
	RefDataStore.Provider.
UKPRN
	Engagement.
QualifcationAwarded.
QUALID
	Qualification.
AwardingBodyRole.
AWARDINGBODYID

	10000010
	1
	5027

	10000010
	1
	5035



The AWARDINGBODYID are SQA (5027) and a generic code (5035) so Engagement.Z_AWARDBOD_RP = 5027.

Example 2 
An Engagement at provider 10000010 has one QUALAWARDID returned during the cycle which has three associated AWARDINGBODYID. TEMP_COUNT_AWARDBOD =3 and TEMP_COUNT_UKPRN = 1: 
	RefDataStore.Provider.
UKPRN
	Engagement.
QualifcationAwarded.
QUALID
	Qualification.
AwardingBodyRole.
AWARDINGBODYID

	10000010
	1
	10000011

	10000010
	1
	5032

	10000010
	1
	5035



One of the AWARDINGBODYID is a UKPRN not the same as the reporting provider, so Z_AWARDBOD_CYC = 10000011. 

Revision history
2021-08-17	0.0.1	Label change for category Z9 from “Unknown” to “Not known”.
2022-06-31     0.0.1    Updated labels for awarding body codes ‘5010, 5032, 5027, 5035’




    



